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e  adj. zero; void
Gl adj. ten
&t adj. a hundred

ToIR  adj. a thousand

CLIRISIRY

adj. ten thousand

T o™
adj. one lakh, a hundred thousand

o o™
adj. ten lakh, one million

at e
adj. a hundred lakh, ten million

U WS

adj. one crore, ten million, a hundred lakh

H WIS

adj. ten crore, a thousand million

Teh 3R
adj. one billion

BT AT<AT
to feel dizzy

3REUfd m. a billionaire

fAdA m. an investment
a@Ifd m. a millionaire, a rich man, lakhpati

CRIENIT

m. one who possesses a crore rupees, a rich man,

a crorepati

agufa dr e Tgd e I F=ife T o™
TT TG ThA Tl glcll, AW T Tt
t @ Susufaat f dear o aech o W@ ¥

You will find many lakhpatis because one lakh is
not a very big amount, to become a lakhpati is easy...
India is progressing significantly nowadays, hence the

number of crorepatis is also increasing. ..

ThdA f. an amount

Sedfd f. progress
WA FHS F q Wer =idy & darpt 3 7 @
q @ F@Ufd @ dgd a5 91T Al

In the older days those people used to keep capital in

silver coins and so being a lakhpati was a big deal.

AT . silver

A& m. coin

Al m. capital

Ugell adj. first
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YA HET 3 A & Ugell TATH 1T fhaT| TYUH QIEDR T3l TH i
In his class, Ram got the first position or Ram received the First Prize. A more neutral
Ram came first in his class. sentence would be T @I YYH GIEFHR THeT|
U AT YA a§ H o 3ER B SeAfd B ofl
to obtain He made a lot of progress even in the first year.
g8 adj. second AT adj. second
ITH = el A GFRT T 97 | e fr-gg
Shyam came second in class. Second World War
I QIEhR T ! fare| T adj. third
Shyam received the second prize.
T a-gg
@RRT adj. third Third World War
gl adj. fourth TGT adj. fourth
AT v.t. to add SIS AT
to add (SNE means addition)
SR Y e ofy arier grer I
It kept raining continuously for the fourth day. 3TST & 1S AT G|
Today we will learn addition.
UYA  adj. first

¢ T ¢ & WY IS A W & 2 ferar §
al &H <Ed % o5 first & forT g "Uger” e &1 On adding 1 with 1, we get 2. or
AT A R AT TPIEARTTI A H w3k 1 +1=2
qeg & "UYA" ST fF HEPA Aeg § AIR FHMT

SEAATT Phr AT & By ) P13 A B WA W Urg THerar &

So we see that for first we can definitely use the word ~On adding 2 with 3, we get 5. or

“Ogell” but with that there is another word “UYdH,” 2+3=5

which is a Sanskrit word but it is used very often in

Hindi. ¢ W ¢ Y SN € oY 2 e &
If we add 1 with 1 then we get 2.
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¢ F ¢ B ANSA ar e 3 AR IFT IR ¢ AT

If we add 1 with 1 then we get 2. The difference between 3 and 2 is 1.

¢ H ¢ Sz W R AT | 3 31X * T 3R APl A ¢ TepTAT TodT

Adding 1 to 1 gives 2. If we find out the difference between 3 and 2 then 1
remains.

AT vt to add
ThrAT

¢ h TTY ¢ A FAT ar 2 Aerar &l m. remainder; adj. remaining

If we add 1 and 1 then we get 2.
3 3 2 FT 3R Aprel A ¢ TTATEI

QP OIT 3 Fr e ar ofT e If we find out the difference between 3 and 2 then 1
Adding 3 to 2 gives 5. remains.
3T m. answer, result PH HIAT
to subtract
T AT
to add (T means total, sum) 3IAJIPBABT ol ¢ T &
If we subtract 2 from 3 then 1 remains.
¢ 3 |TY ¢ T AT Pl W R AT %
Adding 1 to 1 gives 2. T3 3R aﬁrq.,—;j;aa@|
(You) Tell the difference between 3 and 2.
e & 3R AT HEAT 3T SEIATT AL W § A AR Y F w1 b ¢ BT B
But mostly you will see that “5 BT is a The difference between 3 and 2 is 1.
common word (phrase) and “TRT AT’ is not used
as often. IR ATl W 41 arehr w@I?

What remained on subtracting?

"eTT v.t. to subtract

b f. remainder; adj. remaining

3R et

to find the difference i.e. to subtract (3@ means TRTIT Tgeedl

difference) to be left over, to remain

Wb hIAT AY m. remainder; adj. remainin,
HATe[H ] g

to find the difference i.e. to subtract (B¢h means

difference)
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AY &l

to be left over, to remain

4 3 3 T 3R fABTA T 2 TIAT R
On finding the difference between 5 and 3, 2

remains.

SHY 3P PA DL AR TIAT I

If we subtract 3 from 5 then 2 remains.

g T3 F AT HTFeh & 2
The difference between 5 and 3 is 2.

g 3T 3 & N BT 51T TH Beb [Adrad & ar

JIaT |
When we find the difference between 5 and 3 then 2

remains.

to multiply

IUTT AT

P YR P IAT B A ¥ e §
If we multiply 2 with 2 then we get 4.

3 & HIY R PTIONH ) & FAerar gl
If we multiply 3 with 2 then we get 6.

U&Isl m. a multiplication table

e

adj. times, -fold; m. a multiplicative quantity

E3al

adj. twofold, double; m. twice the amount

&Y It

adj. twofold, double; m. twice the amount

feraga

adj. threefold, triple; m. thrice the amount

et g

adj. threefold, triple; m. thrice the amount

e

adj. fourfold; m. four times the amount

AR

adj. fourfold; m. four times the amount

Eleic

adj. fivefold; m. five times the amount

roer & aret 3 STt Hir Froret gopar @ TR E

In the last two years, the cost of land has doubled.

R &t aralt 3 AR B SFT-FEA =T
9 T ¥ - A a Al A

In the past three years, India’s population has
increased by three times — (we can say like this) if the

population had (actually) increased (by three times)...

afesdl & Ha Uod §o fodt # IR-T19e
T F
The cost of vegetables has increased by four times

in the past few days.

eI Pl to divide

¥ geT Y af R AT gl

Four divided by two gives two.

€& ger ? &l dr 3 frerm
If we divide 6 by 2 then we will get 3.
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AT m. fraction, part

T 3T 2o Y -2 & HIEIT 3 fasnforg &
& oY 3TueY fhder HTeT freiar?

If you have to divide 10 in parts of size 2 then how

many parts will you get?

HTIT HIAT  to divide

RmfSaaEar o divide
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